

Name:

HAASTRUP OLUWADUYINSOLA MERCY

15 ENQ001032

# ASSIGNMENT 2

MECHANICAL ENGINEERING

$$1. \frac{d^2y}{d\theta^2} + 4\frac{dy}{d\theta} + 5y = 6\sin\theta$$

$$\frac{d^2y}{d\theta^2} + 4\frac{dy}{d\theta} + 5y = 0$$

$$m^2 + 4m + 5 = 0$$

$$\frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

$$\frac{-4 \pm \sqrt{4^2 - 4(1)(5)}}{2(1)}$$

$$\frac{-4 \pm \sqrt{-4}}{2}$$

$$m = -2 \pm j$$

$$CF: y = e^{-2\theta} (A\cos\theta + B\sin\theta)$$

$$\therefore PI = y = C\cos\theta + D\sin\theta$$

$$\frac{dy}{d\theta} = -C\sin\theta + D\cos\theta$$

$$\frac{d^2y}{d\theta^2} = -C\cos\theta - D\sin\theta$$

Subst  $dy/d\theta$  &  $d^2y/d\theta^2$

$$-C\cos\theta - D\sin\theta + 4(-C\sin\theta + D\cos\theta) + 5(C\cos\theta + D\sin\theta) = 6\sin\theta$$

$$-C\cos\theta - D\sin\theta + 4(-C\sin\theta + D\cos\theta) + 5(C\cos\theta + D\sin\theta) = 6\sin\theta$$

2015/2016 EX

$$-C \cos \theta + 4D \cos \theta + 5C \sin \theta - D \sin \theta - 4C \sin \theta + 5D \sin \theta = 6 \sin \theta$$

$$\cos \theta (-C + 4D + 5C) + \sin \theta (-D - 4C + 5D) = 6 \sin \theta$$

Comparing Coefficients

for  $\cos \theta$

$$-C + 4D + 5C = 0$$

for  $\sin \theta$

$$-D - 4C + 5D = 6$$

$$4D + 4C = 0 \quad \dots (i)$$

$$4D - 4C = 6 \quad \dots (ii)$$

$$0 \quad 8C = -6$$

$$C = -\frac{6}{8}$$

$$C = -\frac{3}{4}$$

$$-4D + 4(-\frac{3}{4}) = 0$$

$$4D + (-3) = 0$$

$$4D = 3$$

$$D = \frac{3}{4}$$

$$\therefore \text{P.I.}; y = -\frac{3}{4} \cos \theta + \frac{3}{4} \sin \theta$$

$$y = \frac{3}{4} (-\cos \theta + \sin \theta)$$

Therefore, the general solution then becomes:

$$y = e^{-2\theta} (A \cos \theta + B \sin \theta) + \frac{3}{4} (-\cos \theta + \sin \theta)$$

Neglecting the C.F

$$\text{Hence } y = \frac{3}{4} (-\cos \theta + \sin \theta)$$

$$= -\frac{3}{4} (\cos \theta - \sin \theta)$$

$$P. EI \frac{d^2 y}{dx^2} = \frac{w}{2} (L-x)^2$$

$$EI \frac{d^2 y}{dx^2} = 0$$

$$EI m^2 = 0$$

$$m^2 = 0$$

$$m = \sqrt{0}$$

$$m = 0 \text{ (twice)}$$

$$\therefore y = e^{0x} (A+Bx)$$

$$y = A+Bx$$

(F then becomes  $y = (A+Bx)$ )

$$\frac{w}{2} (L-x)^2 = \frac{w}{2} (L^2 - 2Lx + x^2)$$

$$PI = Cx^4 + Dx^3 + Ex^2$$

$$y = Cx^4 + Dx^3 + Ex^2$$

$$\frac{dy}{dx} = 4Cx^3 + 3Dx^2 + 2Ex$$

$$\frac{d^2 y}{dx^2} = 12Cx^2 + 6Dx + 2E$$

Subst  $\frac{d^2 y}{dx^2}$

$$\therefore EI(12Cx^2 + 6Dx + 2E) = \frac{w}{2}(L^2 - 2Lx + x^2)$$

Comparing Coefficients

$$EI \cdot 2E = \frac{wL^2}{2}$$

$$E = \frac{wL^2}{4EI}$$

Also,



$$EI \delta'' = \frac{-w \cdot l}{2}$$

$$\delta = \frac{-wl}{6EI}$$

$$EI \delta C x^2 = \frac{w x^2}{2}$$

$$C = \frac{w}{24EI}$$

$$PI = \frac{w}{24EI} x^4 + \frac{wl}{6EI} x^3 + \frac{wl^2}{4EI} x^2$$

$$\therefore = \frac{w}{24EI} x^4 - \frac{4wl}{6EI} x^3 + \frac{6wl^2}{4EI} x^2$$

$$= \frac{w}{24EI} (x^4 - 4lx^3 + 6l^2x^2)$$

$$24EI$$

The general solution becomes:

$$y = (A + Bx) + \frac{w}{24EI} (x^4 - 4lx^3 + 6l^2x^2)$$

$$\text{at } y=0 \quad x=0$$

$$0 = A + 0 + \frac{w}{24EI} (0 - 0 + 0)$$

$$24EI$$

$$\therefore A = 0$$

$$\frac{dy}{dx} = \frac{w}{24EI} (4x^3 - 12lx^2 + 12l^2x)$$

$$\text{at } \frac{dy}{dx} = 0 \quad ; \quad x=0$$

$$0 = \frac{B + w(0)}{24EI}$$

$$\therefore B = 0$$

$$y = \frac{(0 + 0x) + w(x^4 - 4lx^3 + 6l^2x^2)}{24EI}$$

$$y = \frac{w(x^4 - 4lx^3 + 6l^2x^2)}{24EI}$$

$$\therefore \text{If } x = l$$

$$y = \frac{w(l^4 - 4l \cdot l^3 + 6l^2 \cdot l^2)}{24EI}$$

$$y = \frac{w(l^4 - 4l^4 + 6l^4)}{24EI}$$

$$y = \frac{w(3l^4)}{24EI}$$

$$y = \frac{3wl^4}{24EI}$$

$$y = \frac{wl^4}{8EI}$$

✓

